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The number of decays that occur in the short time interval Af is designated AN
because each decay that occurs corresponds to a decrease by one in the number N
of parent nuclei present. That is, radioactive decay is a “one-shot™ process, Fig. 30-9.
Once a particular parent nucleus decays into its daughter, it cannot do it again.
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FIGURE 30-10 (a) The number N of parent nuclei in a given sample of '$C decreases exponentially.
We assume a sample that has N, = 1.00 % 102 nuclei. (b) The number of decays per second also
decreases exponentially. The half-life of '$C is 5730 yr. which means that the number of parent E .{»_. -é/
nuclei, N, and the rate of decay, AN/Al, decrease by half every 5730 yr. |/1_ /2 &3
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